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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

  (70)     (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

(05) 

(19) 

(02) 

1. Discuss in details the Harrod-Domer model of Economic

Development.



2. Describe the various methods of credit control of Central

Bank.

         



3. What do you understand by National Income ? Discuss

in details. Measurent methods of National income.



 
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4. Explain Hawtrey and Hayek Monetary theory of Trade-

cycle.

       



5. Examine critically the liquidity preference theory of

Interest.

       



Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

    (08)      

(08)

(04) 

1. Explain the employment theory of Keynes.

 
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2. Explain the types of inflation.



3. What do you understand by investment function ?



4. Explain in brief the tools of fiscal policy.



5. Discuss the relationships between the Inflation and

unemployment.



6. Explain the Loanable fund theory of interest.



7. What are the objectives of macro economics ?



8. Discuss the concept of multiplier.



**************


